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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1) udienedf aduem 39a UvA U= R AR stfHama: ford)

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) wdt wm T W sfE g

All the questions are compulsory.
3) eIk 9 W IW & TG IW-Yieren | g ot |

Write the answer to each question in the given answer-book only.
4) 7 9wt 0 swaiies @uE g, 37 At & S Uk A g ford|

For questions having more than one part, the answers to those parts
are to be written together in continuity.
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5) U v & &< 9 3t wurw | Rt ger @ g / o / e g w =
& 99 & T A

If there is any error / difference / contradiction in Hindi & English versions of

the question paper, the question of Hindi version should be treated valid.
6) U T IW foTE § Yd U 1 SHAT avd fordl|

Write down the serial number of the question before attempting it.
7) 99 sk 16 § 22 T | AR faewhed g

There are internal choices in Question Nos. 16 to 22.

8)  3UHt STR—YTEIehT & UBI h gHI IR ToIRaT| Afe hIg TF & HEAT &, Al SW—YRedent o
3ifem gsi W 3R 3% foRest eimel | Fee A W T wE form d)

Write on both sides of the pages of your answer-book. If any rough work is
to be done, do it on last pages of the answer-book and cross with slant lines

and write ‘Rough Work’ on them.
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SECTION - A

Fgfaehedid T

Multiple Choice Questions :

= aegfs uvAt & s W foemen w=m S S giwre | fafan)

Choose the correct option to answer the following objective questions in the answer

1))

sheet.
i) 95 aun 152 = UgHH TuIedes (W.9.9.) § - [1]
A 1 ) 19
w) 57 7) 38
Highest Common Factor (HCF) of 95 and 152 is :
A) 1 B) 19
C) 57 D) 38
i) afgsgug 2x? + x + k o T I 3 2, @k A= gom - [1]
A 12 q) 21
") 24 3 21
If 3 is a zero of polynomial 2x? + x + k, then value of &k will be :
A) 12 B) 21
C) 24 D) -21
iil) Y 37kl I T | TR T 3k x 3N IS 1 3k ) B, T T 2 o- [1]
) 10x+y q) x+y
|) 10y+x 3) X

1v)

In a two digit number, the unit digit is x and the tens digit is y, then the number
1S :-

A) 10x+y B) x+y

C) 10y+x D)

qHR oG 2, 7, 12, ... w10aiug B :- [1]
H) 37 q) 47

") 74 3) 32

The 10" term of arithmetic progression 2, 7, 12,... is :-

A) 37 B) 47

C) 74 D) 32
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v) afe 18, a,—12 GuieR I | g @ g T HH N7 [1]
) 3 | 6
|) 12 3) -10
If 18, a, —12 are in arithmetic progression, then the value of @ will be :-
A) 3 B) 6
C) 12 D) -10
vi) =fe Byt ABC it =1 AB = 4 &ft, ys BC = 3 snfi a yon AC = 5 ot @ &t s
ABC grm ;- [1]
) ek wi BYs ) wEehiv e
W) e 7) g faw
If the sides of triangle ABC are AB = 4cm, BC = 3cm and AC = 5cm, then
triangle ABC will be :-
A) Obtuse triangle B) Rightangle triangle
C) Equilateral triangle D) Isosceles triangle
vil) e foreg % fridurien 2 :- [1]
FHA) (1,0) ) (0,1)
|7 (LD 3) (0,0
The coordinates of the origin are :-
A) (1,0) B) (0,1)
C) 1,1 D) (0,0)
viil) (1 + cot? 30°) &1 7F 2 :- [1]
A) 2 ) 3
") 4 3 S
The value of (1 + cot? 30°) is :-
A) 2 B) 3
C) 4 D) 5
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iX) TUeh SeAteR TE Hi WoTE, TE Hhi S & e g, dl GF &1 399 wion grm :— 1]

H) 45° ) 30°
") 60° g) S0°
The shadow of a vertical pillar is equal to the height of pillar, then angle of
elevation of sun will be :-
A) 45° B) 30°
C) o60° D) 50°

X) U e farg Q ® Uk g7 W Tyt W i oag 24 St aun Q g | gt 25 |t 31 g
HBren g - [1]
F)  T7u T|) 129
9) 13 o g) 15%H

From an external point Q, the length of the tangent to a circle is 24 cm and the
distance of Q from the centre is 25 cm. The radius of the circle is :-

A) 7cm B) 12cm
C) 13cm D) 15cm
Xi) @fe Uk r BIeen & 9 % FHaEE & w0 g dl, 39 BT T & eEwe g - [1]

6 271l
T80 AT
27ré w6
) Se00 3 3600
If O is the angle of a sector of a circle of radius r, then the area of this sector
will be :-
A w6 B 27xrf
) 180° ) 180°
c 27ré b w6
) 360° ) 360°
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Xil) @ B et ht FBread sHASt: 7 T 27 7, Ik A Bl SIUTA @ - [1]
H) 1:4 ) 1:8
") 1:1 3 1:2
The radii of two solid spheres are » and 2r respectively, the ratio of their
volumes is :-
A 1:4 B) 1:8
C) 1:1 D) 1:2

xiii) af2 9, 11, 15, x w1 wea 14 1, & x 1 0= B :— [1]
a) 21 T 12
") 20 3 23

If the mean of 9, 11, 15, x is 14 then the value of x 1s :-

A) 21 B) 12
¢ 20 D) 23
Xiv) e 1,3, 2, 5, 9 o1 ueTeh @ :- [1]
) 1 | 2
|/) 3 3) 4
The median of the distribution 1, 3, 2, 5, 9 1s :-
A 1 B) 2
C) 3 D) 4
xv) foret ot wem E & fem P(E) + P(E) 1AM 2 :- 1]
F#A) 0.2 q) 1
7)) 0.1 3) 05

For any event E, the value of P(E) + P(E) is :-

A) 0.2 B) 1
C) 0.1 D) 05
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FrafcTiam woat @ Rk Tt &t gfd ohtd g ST gkt | foiiau)

Fill in the blanks in the following questions and write them in the answer book.

i)

1v)

Vi)

vii)

TR A 5,9, 13, ... FEEA UL ............ H [1]

sin 60° sec30° tan 45° W/AM ................. 2l [1]

T % UH—TAUTE TR B TR oo e 3l [1]
One-fourth part of a circle is called of the circle.

Teh 3 SISt 1 HYUT IS &he 462 ot 9l 3, 39 o9 e &t B ...
2 [1]

The total surface area of a solid hemisphere is 462 cm?, the radius of the this
solid hemisphere is

& veror hr aRaERan SAfeRad B 8, I8 3 J0N H ... THgATd 2l [1]
The observation whose frequency is maximum is called of those
observations.

e TR SHARTA forom Tenstt &1 /1ed 6 2, @ 31 Ol ° gad 99 T e 21 [1]

If the mean of four consecutive odd numbers is 6, then the largest number
among these four is

30 e Kot afea g fAfvaa 2, & wilResar ... gt 2l [1]

The probability of an event which is certain to occur is
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Very Short Answer Questions :

)  owa umEs fafa gr 12, 15 3R 21 ot o anad (.9.9.) 7 Siel [1]

Find the least common multiple (LCM) of 12, 15 and 21 by prime factorization

method.

i)y fgamaageg x® + 7x + 10 & e 7 Hifw)

Find the zeroes of the quadratic polynomial x> + 7x + 10.

i)y = ameRfa @, afz PQ|RS 2, @t fag ifsm i APOQ ~ ASOR 21

R

In the following figure, if PQ||RS, prove that APOQ ~ ASOR .

R

iv) =fe 3x —y =93 3x =2y, @ x 3R y T AA 7@ HRC|

If 3x — y =9 and 3x =2y, then find the values of x and y.

S—09—Mathematics 1605
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V) xaﬁ?yﬁ@ﬁﬁaaﬁﬂﬁn,ﬂlﬁﬁﬁg(x,y)ﬁgaﬁ(l 1)%(3,5)@!1“85@?” [1]

Find a relation between x and y such that the point (x, y) is equidistant from
the point (7, 1) and (3, 5).

vi) TS TR % SO R T IAEH HI0T SR qA ok T faeg W 60° 7| Afg 9 forg www &
R fog & 1(,/3 WX g WA @ T it F=1g 7 hifg| [1]

The angle of elevation of the top of a tower from a point on the ground,
which is 10+/3 meter away from the foot of the tower, is 60°. Find the height

of the tower.

vil) 50 Hiet S #iAR & PR & geslt W g fog 1 sram i 30° @) faeg i dem
IR ¥ 0 A At [1]

The angle of depression of a point on the earth from the top of a 50 meter
high tower is 30°. Find the distance of the point from the base of the tower.

viii) 6 At Freen ot Uk 9 % Uk Preerae w1 8wt T i, et e w6 it 60° B
[1]

Find the area of a sector of a circle with radius 6 cm where angle of the sector
is 60°.

iX) U 5 T YT % °A 1 AUl IS &k [ S| [1]
Find the total surface area of a cube of side 5 cm.

X) U SoH Seeh g 3 St auT Ish S 1 8% 66 WHY 2, @t SHeh! e [ Fifu)
[1]

Find the radius of a cylinder whose height is 3 cm and curved surface area is
66 cm?.
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e - 9
SECTION - B

AR T

Short Answer Type Questions :

4) fagHifu s 3.2 v smfe @ 2l [2]
Prove that 3./ is an irrational number.

5) U fgum agug T hieTe, Tdeh Y o1 AN a1 UHEA shAwr: —3 3R 2 gl 2]
Find a quadratic polynomial, the sum and product of whose zeroes are —3 and 2,
respectively.

6) < WUTH HIT W ST HIVT I hHivT A 18 Tft aiferen 21 52 7 Fifm) 2]
The larger of two supplementary angles exceeds the smaller by 18 degree. Find
them.

7) 6 THeX IS 9Tt Uk SHeaier T i gt W s f werg 4 Hier 2, Jafe S a6y s {iER
N BT H R 28 Hiex 1 WAR 6 F=ng A1 i) [2]
A vertical pole of height 6 m casts a shadow 4m long on the ground and at the
same time a tower casts a shadow 28 m long. Find the height of the tower.

Show that the point (1, 7), (4, 2), (—1,—1) and (-4, 4) are the vertices of a square.
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9) afz 15 cot A =8 @, @l sin A 3R sec A &1 UH Fd FHifTo) [2]

If 15 cot A = 8, then find the values of sin A and sec A.

10) uft 3 v forg & 20 e 3=t U Wam o IR W &l Uk HuR WER % ad oiR e &
IATA HIUT THHA: 45° 3R 60° 3| HAR Ht T=E 7@ il 2]

From a point on the ground, the angles of elevation of the bottom and the top of a
transmission tower fixed at the top of a 20 meter high building are 45° and 60°

respectively. Find the height of the tower.

11) =afg v @ fag P & O g ot foredt g R PA, PB ¥awi Y@y o 80° & hivt WX 3(eh &
@ L POA il AM 7 Hitww| [2]

If the tangents PA, PB from an external point P to a circle with centre O are

inclined to each other at angle of 80°, then find the value of the / POA .

12) U g€t i fome i g3 i o 14 ot B) 39 93 g 5 fee d hm s 3 di) (2]

The length of the minute hand of a clock is 14 cm. Find the area swept by the
minute hand in 5 minutes.

13) U 31| SH Uh Hefiel W @S Uk i & ATHR 1 3, Forweht Browmd | &t § aen visg A
IS SUh! oo & SRIeR 1 39 319 1 3M¥AA 7k Ugi H Jia i) [2]

A solid body is in the shape of a cone standing on a hemisphere. Both radii are
equal to 1 cm and the height of the cone is equal to its radius. Find the volume of
the solid in terms of 7.
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14) T SERAT 923 w1 W {1 i) 2]
X 1 2 3 4 5 6
f 2 5 6 4 2 2
Find the mean of the following frequency distribution :
X 1 2 3 4 5 6
f 2 5 6 4 2 2

15) T gt § 3 et 3R 5 el e §1 36 9t ° | U g Argesan Henrelt Sl 81 3Heht ikl
¢ o 7ig (i) e @e (i) e T ae 2]
A bag contains 3 red balls and 5 black balls. A ball is drawn at random from the
bag. What is the probability that the ball drawn is (i) red? (i1) not red?

G us - ¥
SECTION - C
< A U9
Long Answer Type Questions :
16) = 3t arelt fehat T 7 | faur 22 [3]

How many three - digit numbers are divisible by 7?

sigar/OR
Tfe forelt TrTR 9Et & oM 14 udi st am 1050 @9 36 9om ue 10 2 &t 20 & 9e 7
Hit| [3]

If the sum of the first 14 terms of an Arithmetic Progression is 1050 and its first
term is 10, find the 20" term.

17) y-311 W U T foig 7 St < famgadt A (6, 5) 3R B (4, 3) @ wwew Al [3]

Find a point on the y-axis which is equidistant from the points A (6, 5) and B (—4, 3).
staar/OR

fagatt A (2, -2) 3R B (-7, 4) ® Agaet {@EE & #H Hia A A oget &

fadwries s <hifso) [3]

Find the coordinates of the point of trisection (points dividing in three equal parts)
of the line segment joining the points A (2, —2) and B (-7, 4).
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18) Tag iRt for feredt o o Teret =amer o ol R it 715 ¥d9l T@md EHieR g gl

19)

Prove that the tangents drawn at the ends of a diameter of a circle are parallel.

forg T Tor Tt Torg & w9l Y WX i T o 3 % g © g A gl

stgat/OR

3]

3]

Prove that the perpendicular at the point of contact to the tanget to a circle passes
through the centre of the circle.

= SR Sea v ek I il -

=t 10-25 25-40 40-55 55-70 70-85 | 85-100

TRAT 6 20 44 26 3 1

Find the median of the following frequency distribution.

Class 10-25 25-40 40-55 55-70 70-85 | 85-100

Frequency 6 20 44 26 3 1

stgar/OR

o T e @ agere T Aif)

=t 10-20 20-30 30-40 40-50 50-60

ERAT 12 35 45 25 13

Find the mode of the following frequency distribution.

Class 10-20 20-30 30-40 40-50 50-60

Frequency 12 35 45 25 13
S—09—Mathematics 1605
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©Us - §

SECTION - D

Faaraes gva

Essay Type Questions :

20) TS AHATHR W i forhut SEht BIdt I & 25 M. siferes & 31 afe st 9o 8idt Yen a 23

21)

Hiex atferes 2, @ T YU A Hiee) [4]

The diagonal of a rectangular field is 25 meter longer than its shorter side. If the
bigger side is 23 meter more than the smaller side, find the sides of the field.

tgar/OR
Ut St TEA 7 Rifte, e @ 27 @ iR uEte 182 2@ [4]

Find two numbers whose sum is 27 and product is 182.

forg hifste 6 sec A (1 —sin A) (sec A + tan A) = 1 [4]
Prove that sec A (1 —sin A) (sec A +tan A) =1

grgar/OR

l+sinA

g fifsu &% =secA+tan A [4]

1—-sinA

1+sinA

Prove that =secA+tanA .

1-sinA
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22) = g2 w1 47.5 wicua mea uHeR Wied A FifTu)

[4]

=

10-25

25-40

40-55

55-70

70-85

85-100

AERAT

2

3

7

6

6

6

Find the mean of the following distribution by considering assumed mean as 47.5.

Class 10-25 25-40 | 40-55 55-70 | 70-85 | 85-100
Frequency 2 3 7 6 6 6
stgat/OR

Terelt whet it e X &t 51 Teferai Rt Semgat o uek waeun TR T e Fefeiea s

um feu [4]
S (@ E) 1408 ww 1458 ®m |[50@®A (15580 ([60@®A (1658 &0
wefrat i g 4 11 29 40 46 S1
IS 3Tg A i

A survey regarding the heights of 51 girls of Class X of a school was conducted

and the following data was obtained.

Height (in cm) |Less than | Less than | Less than | Less than | Less than | Less than
140 145 150 155 160 165
Number of girls 4 11 29 40 46 51
Find the median height.
VOOV
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